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General Instructions-

1. The question paper has three sections as A, B & C.

2. Section ‘A’ has 24 questions, attempt any 20 questions.

3. Section ‘B’ has 24 questions, attempt any 20 questions.

4. Section ‘C’ has 12 questions, attempt any 10 questions.

5. There is only one correct option for every question. Marks will not be awarded for
marking more than one option.

6. All questions carry equal marks. Marks will be 0.8 (50 x 0.8 = 40 Maximum Marks)

awarded for one right option.
7. There is no negative marking.

@S T/ Section A
Tﬂé’ oY 20 Wﬂﬁﬁl Attempt any 20 questions.
1.5 fAATSS Hehe A e AT [Aefaf@d # sl 4 g2

(31) e - Ere (SNRgReT - el

GIEGE RGP (RIS - SheAsT

Which of the leaders were associated with the Cuban Missile Crisis?
(a) Nehru —Tito (b) Khrushchev — Gandhi

(c) Kennedy — Churchill  (d) Khrushchev — Kennedy



2. A Tregt 3R e Iree & sfrar gfacry faea-geer @aTed o g3m?

(37) 1914 (&) 1918

(|) 1939 (&) 1945

When did the Second World War between the Allies and the Axis powers ended?
(@) 1914 (b) 1918

(c) 1939 (d) 1945

3.ATITATRT IR FIRTT 31T S AT I[CcT ATH T AT?

(37) thedsT (@) fofear g

(@) SeHeT (&) EATE &T

What was the secret name of the bomb dropped on Nagasaki?
(a) Fat Man (b) Little Boy

(c) Batman (d) Smart Boy

N I O =) (S | — H §T§zﬁ|

(37) 1849 () 1949

(g) 1847 () 1947

NATO was established in ---------------- )

(a) 1849 (b) 1949

(c) 1847 (d) 1947

5. QrEIdIeT WH & o2t T [l AT J ST SATAT AT?

(37) gEdr gferam (<) Tgel gfaam

(@) g gfaar (&) 3TRNFd H A HIS g1
The countries of the communist group were known by which name?
(a) Second World (b) First World

(c) Third World (d) None of the above

6. SIRT A&t & Afcd & WATT G&I & il I3 IURTSA &, Fehol AR el o Wz
e AT GHATTCT T TTYUT e HI?

(31) feHe 1995 (&) feE=X 1990

(&) fedeT 1991 (&) f&Es 1980

Russia, Ukraine and Belarus, the three major republics of the Soviet Union under the
leadership of Boris Yeltsin, announced the dissolution of the Soviet Union in------------ .
(a) December 1995 (b) December 1990

(c) December 1991 (d) December 1980

7. QAT 99 & AhINaed # fohg a¥ geda1q forar ar?



(37) 1879 () 1979

(§) 1978 (&) 1989

Soviet Union intervened in Afghanistan in which year?

(a) 1879 (b) 1979

(c) 1978 (d) 1989

8. TSI fehedTeT feohclat AN cieh 6 -t T =de H TET?

(31 5 a9 (&) 7a%

(@) 9ay (@) 1099

For how many years was Tajikistan in the grip of civil war?
(a) 5 years (b) 7 years
(c) 9 years (d) 10 years

9.AfATT T & faeT & FRUT A Y AFATATET H T Dol AT HUT TET oTal &2
(31) ot ien 3TT¥er HEATT 3ieTel) &7 J FHSR & 1S oY

() g TN dh IFTTTEAT ITHCY @

(&) STHTFAT eI T =T el g 1S

(€) IR i 3R R FATCT 8 are &

Which of the following statement is not correct among the reasons for the dissolution of
the Soviet Union?

(a) Political economic institutions were weakened internally

(b) The economy remained stagnant for years

(c) There was a huge shortage of consumer goods

(d) International treaties and agreements were terminated.

10.HYF TSE TG & fohctal 39782

(37) 9T () B

(/) |1 (@) IR

How many organs does the United Nations have?
(a) Five (b) Six

(c) Seven (d) Four

11, eTEeh! T HEATT gl (& 87

(37) &7, ileels (&) AR, wre
(H) ¥gTeh, JuaT (&) aTfRreTes, JuaT
Where is the headquarters of UNESCO situated?
(@) The Hague, Holland (b) Paris, France

(c) New York, USA (d) Washington, USA



12. A" T TAAT fheeh garT &1 775 oA

(37) guET (&) TYFT ITSE FGTHAT
(@) FgeFc g FRIaTerd (&) JEATHHR

Who established UNICEF?

(a) USA (b) UN General Assembly
(c) UN secretariat (d) USSR

13. ILO T HEATY gl (& 87

(37) IR, (&) Srerar, Ragarels
() =31, JTHT (€) aTRIeTes, JuaT
Where is the headquarters of ILO situated?

(a) Paris, France (b) Geneva, Switzerland
(c) New York, USA (d) Washington, USA

14. T9dT T Fofel A Yol IoRI 3R gRAOT AeATAf@d & @ fohet Ho1 T &
30T 7

(31) fewTarer iR detre (@) fewraer 3R S5

(@) s 3R goTe (&) Trorere 3R

Before becoming an independent state, Gujarat and Haryana were part of which of the
following parent states?

(a) Himachal and Punjab

(b) Himachal and Bombay

(c) Bombay and Punjab

(d) Rajasthan and UP

15.970d & Tsery AT & Hia I dcg arem srea §7

(37) foReRar (&) SUSTATRY

(/) SAfdare (&) U e
What factors hinder national building in India?

(a) Niteracy (b) Unemployment
(c) Casteism (d) All of the above
16. IR & JUH TeAld HFFd Pl I?

(37) GHAR AT CIRGIEEI

(&) FTAT @& FAR T
Who was the first Election Commissioner of India?
(a) Sukumar Sen (b) Ramvilas

(c) Sargjini (d) V Kumar Rai



17. 33T WA R 17aT hr hiag= o

(37) féer () 3

() AcTATH (&) gITaT

Amrita Pritam was a poetess of which language?

(a) Hindi (b) Urdu

(c) Malayalam (d) Punjabi

18. SIRWS AT e JATIT AT AT?

(31) 2000 (sT) 2001

() 2002 (&) 2003

When was the state of Jharkhand created?

(a) 2000 (b) 2001

(c) 2002 (d) 2003

19. JAIST=AT YT Hr FATIAT forar I g5 217

(31) 1947 () 1948

(H) 1949 (a) 1950

When was the Yojna Aayog established?

(a) 1947 (b) 1948

(c) 1949 (d) 1950

20.9°UH GITNRT ATl H fohd 819 IR 3178 SR fear s
(37) 3T &7 (&) TeAeT &

(@) Py (&) SATIIT &1

Which area was given more emphasis in the first five-year plan?
(a) Industrial Sector (b) Mining Sector
(c) Agriculture Sector (d) Business Sector

21.1956 H AT AgY ATHS &l o [siceT o fora &or aX 3mshAUT fham?
(31) TSt @ &=
(&) &= (&) TZE 3RS

Which of the following countries was attacked by Britain in 1956 over the Suez Canal
issue?

(a) Jordan (b) Egypt

(c) Iran (d) Saudi Arabia

22.9Rd H UIAATS T TFH A T 3TTATST hel fohaT ITAT AT?

(31) 1945 () 1946
(¥) 1947 (G) 1948



When was the Asian Relations Conference organized in India?
(a) 1945 (b) 1946
(c) 1947 (d) 1948

23.1954 H “MTAYUT HE 3HTEcTca” & ToIT Ag® il 3N AF Uel o1g o Tehetel oGl &t elvom
$r?

(31 15 Reura () 10 faggra

(@) 5 Reeria (@) 7 Ferict

How many principles were announced by Nehru and Chou En Lai in 1954 for "peaceful
co-existence"?

(a) 15 principles (b) 10 principles
(c) 5 principles (d) 7 principles
24. et ¥ HRA W e 3ThAUT TohaT?

(31) 1956 (&) 1965

(¥) 1963 (&) 1962

When did China attack India?

(a) 1956 (b) 1965

(c) 1963 (d) 1962

@s &t / SECTION B
25. “FAGEl” (SEATO) T HET 0T &9 YiIT-
(37) &feror qa 3 ReRT Gier Harsa
() gTaToT qg 3iifecar |@fer Harae
(&) efeToT 9 TS |iEr HataeT

(@) afaror g 3mecTorr §ier Here

Choose the correct full form of “SEATO”-
(a) Southeast America Treaty Organization
(b) Southeast Austria Treaty Organization
(c) Southeast Asian Treaty Organization
(d) South East Australia Treaty Organization

26970l Thc T Shlel AT AT?

(37) 1954-1982 () 1954-1972
(") 1955-1965 (&) 1958-1962
What was the period of the Berlin Crisis?

(a) 1954-1982 (b) 1954-1972

(c) 1955-1965 (d) 1958-1962



27.aﬁ?ﬁa;ruﬁwwaw§mm?

(37) 1980 () 1990
(§) 1970 (&) 1980
When was Germany unified?

(a) 1980 (b) 1990
(c) 1970 (d) 1980

28. 7[¢ foIRqeT 3riaTelet 1 TATTAT # fhdel HEATaeH i & amr fora?
(31) Tra () |7

() 31T (e) =t

How many founder countries participated in the establishment of NAM?
(a) Five (b) Seven

(c) Eight (d) Nine

29. ]I T & faEreet o Te; TYFT TCE FR&T TREE H--—-—- T SRR ST 14T AT |
(37) SR (&) =T

() & (&) doTTTeREdTeT
29. After the dissolution of the Soviet Union....... was made the successor in the United
Nations Security Council.
(a) Belarus (b) Chechnya
(c) Russia (d) Tajikistan
30. %8 HGT Tl o Hed H ATcehId fIRTae HTHROT ........ AT |
(37) AT TolTeT (5) 2T Y
(&) aTeY A (&) TATS Telled
The reason for the dramatic fall in the value of the Russian currency ruble was .........
(a) Marshall Plan (b) Shock Therapy
(c) Water Therapy (d) Smart Plan
31.8ITT HG IR 70 TN dh ATHeA Hlal dTell feATl & H & il AT It 2?2
(37) SEgaree arél (&) SPIEIT 9TET
() oreX 9Tl (§) shorafeq aref
Which of the following parties ruled the Soviet Union for 70 years?
(a) Communist Party (b) Congress Party
(c) Labor Party (d) Conservative Party

32,92 WIST I&H & G U Ao AT P HYF IS o7 4T 7137 feram am?
(31) 3T ST T2
(«) 3R VSR hisH



(H) TR 3T FIASe T
(&) 3TINLIA ST IhISaT

What name did United Nations give to the military operation during the First Gulf War?
(A) Operation Desert Storm

(B) Operation Enduring Freedom

(C) Operation Infinite Reach

(D) Operation Iraqi Freedom

33.3TaRTSERT 1 HaTesT I TATYAT forg gy S ars e

(37) 1819 (¥) 1719
(§) 1919 (&) 1945
In which year was the International Labor Organization established?
(a) 1819 (b) 1719
(c) 1919 (d) 1945

34. HIAFY: - AT 99T Jeor ¥ Taea & 3renfar s Argher Jer < feam
FHIOT:- FgercT TS T &1 TaRd & T T ohlet A HgeaquT ${ffehr =1s11s |
(37) 3TTRFUA 3N FROT ST HET & 3R HROT 3TAHUT T FET A&7 |

(&) TR R FRUT GIAT TET § ol fohe] hROT, HTHFT T TET ITEIT A6 ¢ |
(&) 31T Il g Afehed FROTHET B |

(&) 3TTeRUT TET & olfeheT HROT ITeld Bl

Assertion: - World War Il had created an atmosphere of unrest in the world.

Reason: - The United Nations played an important role in establishing peace in the
world.

(a) Both the assertion and the reason are true and reason is the correct explanation of
the assertion.

(b) Assertion and reason both are true but reason is not the correct explanation of
assertion.

(c) Assertion is false but reason is correct.
(d) Assertion is true but reason is false.

35. JTAHYT: - HYF TS YI&T TRVE H Fel 15 ST A& |

HIOT:- HYeFcT g FI&T TR & Tl Feeai 1 el gk Tred & |

(31) 3TTAHYST 3T HROT AT FET & 3R FRUT 3TRHYT S GE ATEATR |

(&) 3TTHHRUT 3R FRUT SNl TEY & oA Tohed HRUT, HIFFHYST T HEl SATEAT g & |
() HTHHAT ITeTd g elfhed FRUTTLT L |

(&) JTTHHUT HET & elfehel HROT I & |




Assertion: - There are total 15 member countries in United Nations Security Council.
Reason: - All members have veto power in the United Nations Security Council.

(a) Both the assertion and the reason are true and reason is the correct explanation of
the assertion.

(b) Assertion and reason both are true but reason is not the correct explanation of
assertion.

(c) Assertion is false but reason is correct.

(d) Assertion is true but reason is false.

36. TSI o TeT 1947 F AGR & AR S 1Y ......... 8Tl TWeT T GHSIAT R |

(31) FmTRRYfa (&) FaAAT

(@) ITFRTE (&) TgaT

The Nizam did an agreement with India in November 1947 to restore .........
(a) Standstill (b) Freedom

(c) Standoff (d) Cooperation

37. HIAFY: - HGRIST Srerere; {8g o 1948 H AT & FoA1d Tl

HIROT:- ATOTYR HT RATHT 7 FIUTTeAsh TSI HIIH g3 |

(37) TTRFYAINR HROT ST HET & 3T HROT TR T FeT AT&AT 7 |

(&) 31T IR FROT GleAT TEY & el fohed FRUT, HTRFYT T Hel SATEAT g ¢ |
(&) ATAFYAITAT ¢ ifhed FROTELT B |

(&) 3TRFHUT T § elfehed FHROT I B

Assertion: Maharaja Bodhchandra Singh conducted elections in Manipur in 1948.
Reason: - Constitutional monarchy was established in the princely state of Manipur.
(a) Both the assertion and the reason are true and reason is the correct explanation of
the assertion.

(b) Assertion and reason both are true but reason is not the correct explanation of
assertion.

(c) Assertion is false but reason is correct.

(d) Assertion is true but reason is false.

38. 37 TRFHYUST: - 3T T2 & ITSeT o AT € 27 o qE TRl 31 811 177 o 3R R Ui &
ST T TEY Tef 3T

PROT:-1956 H T ToAeToeT ATz o g3m |

(31) 3TTAFUAINR HROT SIAT FET & I HROT ITRFUA T FET ATEAT R |

(&) 3TTHRUT 3R FROT SleAl TEY & ol fohed HROUT, HTRFHYT T Hel SATEAT g ¢ |

() HTHFAT ITeTd g elfhed FROUTTLI L |

(€) JTTHHUT HET & elfcheT HROT ITelcl &



Assertion: - With the formation of Andhra Pradesh, there was a struggle for the
formation of states on the basis of language in other parts of the country as well.
Reason: - The States Reorganization Act was passed in 1956.

(a) Both the assertion and the reason are true and reason is the correct explanation of
the assertion.

(b) Assertion and reason both are true but reason is not the correct explanation of
assertion.

(c) Assertion is false but reason is correct.

(d) Assertion is true but reason is false.

39. HAFY: - [qHTIoT & SN T3T HEIT H HREAH SIS TTfehcllel Tl 375 |
FROT:- TTHTSTA & J1¢ 7R A 8@, $ATS, 3T, IR HeTHEIF ¢ |

(37) TTRFYAIN HROT ST FET & 3T HROT 3TRHYT T Tl AT&AT R |

(&) 31T IR FROT ST TEY & el fohed HRUT, HTRFHYT T Hel SATEAT g ¢ |
(&) ATHAFYAITAT ¢ ifhed FROTELT B |

(&) 3TRFHUT TE § lfehed FHROT T B

Assertion: - A large number of Muslim populations migrated to Pakistan during
partition.

Reason: - Sikhs, Christians, Jains, Parsis are minorities in India after partition.

(a) Both the assertion and the reason are true and reason is the correct explanation of
the assertion.

(b) Assertion and reason both are true but reason is not the correct explanation of
assertion.

(c) Assertion is false but reason is correct.

(d) Assertion is true but reason is false.

40 3 THFHYe: - INITAANRAF AT & THT Uil r HATT yrafeies Grawm & forgrst & a7 A
s o

FROT:- Jidl HT DA 3T 917 T off 77 1 915 27 fon ey Torams o 379 ford=T Softent enfdrer
gl

(31) 31TRAHAT 3R HROT GIAT TEY & 3R HROT 3 TRFYA T G sAT&AT 8 |

(&) 31THRYA 3R FROT Gl TET & ol fohed HROT, 3TTHEHAT I HEl ATCAT 78 ¢ |

(&) 3TTRFUAITAT g Afehed FROTHE B |

(&) JTTAHYT HET & elfeheT HRUT el &1

Assertion: - During colonial rule, the boundaries of the provinces were fixed for
administrative convenience.

Reason: - The boundaries of the provinces were also determined from the fact that how
much area is included under a princely state.




(a) Both the assertion and the reason are true and reason is the correct explanation of
the assertion.

(b) Assertion and reason both are true but reason is not the correct explanation of
assertion.

(c) Assertion is false but reason is correct.

(d) Assertion is true but reason is false.

41.1950 H IRd TR o Ueh YEATT & ART............. T FATIAT FT |
(37) TS GeTaTaeT JTHNT () Tashre 3mATeT
() ATSTAT ITAET (&) TS 3TAT3T

In1950 Government of India established the............. through a straightforward resolution
(a) State Reorganization Commission

(b) Development Commission

(c) Planning Commission

(d) Bhasha Commission

42. AT 3T & FAafe@aT # 3 ger T« o
(31) TISTAT 3T () TXPIRAT 37T

() ATE 3TANT (@) 3UFT H § HIg AL

Which Aayog was replaced by NITI Aayog?
a) Planning Commission
b) Sarkaria Commission
c) Shah Commission
)

S— = N N

d) None of the Above
4391 # @i ¥ Tfaf@d # 4 g guren # 3|

(
(
(
(

(37) 1990 & 2T H () 1980 & G H

(|) 1970 & G2k H (&) 1960 o E2H H

In which of the following decade India faced food crisis?
(a) 1990s (b) 1980s

(c) 1970s (d) 1960s

44, FIAFY: - 3R & 1998 = GERT TLATY] TRIET0T fahaT |

HROT:- HRA o 1998 H ST foh 3T I A 3Rl & T 3uperfere st g&dATe H ol
T &THAT & |

(37) 3R 3R HROTElAT HET & 3N FROT AU HT HET cAT&AT 7 |

(&) 31T IR FROT ST TEY & el fohed FROUT, HTRFYT T Hel SATEAT g ¢ |

() ITHAFYT ITeTd § olfehe] HROTHET B |

(&) 3T FEY § efehet HROT ITeld B



Assertion: - India conducted second nuclear test in 1998.

Reason: - India told in 1998 that it has the ability to use nuclear power for military
purposes.

(a) Both the assertion and the reason are true and reason is the correct explanation of
the assertion.

(b) Assertion and reason both are true but reason is not the correct explanation of
assertion.

(c) Assertion is false but reason is correct.

(d) Assertion is true but reason is false.

45 TAHU: - 1966 H A ThTT b FE ARG THSAIT §3T |

HIOT:- A1RMehe, HHSI A H HITAIT T 7 HEAEAT hl 3[R TAHTS |

(31) 31TRAHUT 3R FROT GIAT FEY & 3R HROT 3 TRFYA T T SATEAT R |

(&) 3TTHFRUT 3R FRUT Il TEY & oA ToheT HRUT, HIFFHY T HEl SITEAT g & |
() HTHFAT ITeTd g elfhe] FRUTTLI L |

(&) HTRFYT T & elfhed HROT Tl &l

Assertion: - Tashkent Agreement was signed between India and Pakistan in 1966.
Reason: - Soviet Union played the role of mediation in Tashkent Agreement.

(a) Both the assertion and the reason are true and reason is the correct explanation of
the assertion.

(b) Assertion and reason both are true but reason is not the correct explanation of
assertion.

(c) Assertion is false but reason is correct.

(d) Assertion is true but reason is false.

46.1962 H $TRT el Je&r o HHY T&T HAT leT A

(37) STATEYAT Jg® () TER TolTHTS Tl

(&) &Y.ah. 0T Aetel (&) AR SHTSiIT g

Who was the Defence Minister at the time of Indo-China war in 19627
(A) Jawaharlal Nehru

(B) Sardar Vallabhbhai Patel

(C) V.K. Krishna Menon

(D) Major Jagjit Singh

47. 3TTSTIEY & 16 Fo UIET AR & A1y facel deer 7@at & varer o gaa 9q& A

(31) AR STt Ead 7 91éf
() TaT ITET- ST ITEf
() IR STAHE- Hrgfaee qref




(&) FFfaee arél- FATTarer arct

After independence, which parties were in favour of having foreign relations with
America?

(a) Bharatiya Jana Sangh — Swatantra Party

(b) Swatantra Party — Congress Party

(c) Bharatiya Jana Sangh — Communist Party

(d) Communist Party — Samajwadi Party

48. SIS 1972 Y e M HR SR 37ell S[eet & ST FisT AT HASNAT g2
(37) &S FASAT (&) ATerehe; THSAT

(&) oImeR Faslar (&) ITERT FHASIAT

Which agreement was signed by Indira Gandhi and Zulfikar Ali Bhutto in July 19727
(a) Shimla Pact (b) Tashkent Pact

(c) Lahore Pact (d) Agra Pact

@s Y / Section C
F1$ oY 10 TA FA FLI  Attempt any 10 questions.
49. A few a1 fa &1 3regga AIfGY 3R e &1 3R TS|

Study the picture given below and answer the questions that follow-

e R -
. ) ) :
¥ S
y o N
3 P
- MY
.

Ig T Fa eRiier g2

(37) T FeT Y IehT R oh AR T T R foham s

(1) ST Fe&r T oY JUET IR et Y AT v R fomar arar g
(&) 2T Ferer ohY I JUHATHIR =T T TR ol R o rar @
(&) et Ferer st Ao et 3R A1 T A= st R fhar s &



What does this picture represent?

(a) India's view of the Cold War is depicted

(b) The friendship between USA and China is depicted in the Cold War
(c) The friendship of USSR-China is depicted in the Cold War

(d) The friendship between China and France is depicted in the Cold War

IE A Fad Tioearad qenfiai & v g
This question is for visually impaired candidates only

IRAT T & T IS?

(37) 1949 (§) 1950
(&) 1955 () 1960
When was the Warsaw Pact executed?
(a) 1949 (b) 1950
(c) 1955 (d) 1960

50. = U 31T T &1 3reaaT hifGy 31 w2 1 3T o

Study the picture given below and answer the questions that follow-

Tg A fra AT #rg ?

(37) SR AfereT («) AEse st
(@) fAfRdT geda CICRIGEACEGE]
Which leader is in this picture?

(a) Vladimir Lenin (b) Mikhail Gorbachov
(c) Nikita Khrushchev (d) Leonid Bridgnev

IE WA Fad Tioearad qoanfiai & Qe g

This question is for visually impaired candidates only
1917 T &Y HiTd & ATTh )

(37) TSR AfareT (@) FRErge e



(@) AT Feda SIGRUGEAEEGE]

The hero of the Russian Revolution of 1917 was-
(a) Vladimir Lenin (b) Mikhail Gorbachov
(c) Nikita Khrushchev (d) Leonid Bridgnev

51. A feT 31w T &1 e FIfSF 3R 927 1 3 |

Study the picture given below and answer the questions that follow

/RN
Vi&® Y
sy
=

Ig [T fohd 3TARTSEIT HITGT T Tcleh fdeg o7

(31) T |Y () &

(F) TYFA IS¢ JET GEUGRIGH

This picture is the Logo of which international organization?
(a) European Union (b) SAARC

(c) United Nations (d) ASEAN

g T dhae Tivcaraa wanfiat # v g

This question is for visually impaired candidates only
HYFl TS HE TR W fohetad ST o FEATEN o o

(31) 45 (&) 51
(#) 55 (a) 60
How many countries signed UNO Charter?
(@) 45 (b) 51
(c) 85 (d) 60

few aTw arcTer &A1 €T @ U 3R 9e&t & 3 G-
IefARdeT MeTe & AAdT & &9 H Mcgets & ek H R o &l TRT T H9e1T 3{fHhT f381S |
T TR W AR o Fo9T 3R TIT §F 8 el T GIoAT AGRITFAAT T WH F&T T 3TeleT I&@T |




G, AR & FTAIT o T & FFeT gV 19 T =11 & FAGIRITFAIT b WH H STled T TSI
farer fopam |

52,9l ICTATIET HFHeIT gl §37T AUT?

(37) eeelt (&) dTS

() T (&) Fars=ir
53.2fTcT IS el H e HAIRITFAAT ot Y Ar?

(37) STH=AT-SATITT (§) STHAT-SCT
(H) JUaT- g tH T 3R (&) guaT-SITdTet
54.9 T I[CfATIET HFHeloT el FIHT AT?

(31) 1951 () 1961

@) 1971 (g) 1991

55. IEfARYET 3HicTeled T FAYAT H g & frg Acr 1 vog@ AT oA
(37) amref () gl

() SEw (&) 3ugeFc Tl

Read the given passage carefully and answer the questions based on it: -

As the leader of the Non-Aligned Movement, India played its role in the Cold War on two
levels. On one level, India consciously separated itself from the captivity of both the
superpowers. On the other hand, India freed itself from the clutches of the colonies.
Strongly opposed to joining the ranks of superpowers of newly independent countries.

52. Where was the first Non-Aligned Conference held?

(a) Delhi (b) Belgrade

(c) Karachi (d) Sydney

53. Who were the two superpowers during the Cold War period?
(a) Germany-Japan (b) Germany-ltaly

(c) USA-USSR (d) USA-Japan

54. In which of the following year was the first NAM conference held?
(a) 1951 (b) 1961

(c) 1971 (d) 1991

55. Which of the following Indian leaders played an important role in the establishment
of NAM?

(a) Gandhi (b) Patel

(c) Nehru (d) All of the above
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56. JIST=AT 3T T TATIAT Fe g5 A2

(37) 1947 (&) 1950
() 1985 (&) 1990
57. A TN T IS hel TRIT ITAT?
(37) 2015 () 2016
(|) 2018 (&) 2000
58. R I Tk b Thd T AT &7
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(37) Iregafa () 39 Isgafd
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60. AT ITAT o TSt 3reeT il gid 82
(37) Iregafa (&) 39 TSgafa
(&) TUTAHAT (€) TR & AT grarefier

Read the given passage carefully and answer the questions based on it: -

NITI Aayog was constituted in place of Planning Commission on 1st January 2015 with
the objective of providing the necessary and technical advice to the union government
regarding policy making at the Central and state level. The prime minister of India is the
ex-officio chairman of NITI Aayog and he appoints the vice chairperson of NITI Aayog.
The first chairperson of NITI Aayog was Arvind Panagariya.

56. When was the Planning Commission established?
(a) 1947 (b) 1950
(c) 1985 (d) 1990

57. When was NITI Aayog constituted?



(a) 2015 (b) 2016
(c) 2018 (d) 2000
58. Who is called the think-tank of India?
(a) Planning Commission
(b) NITI Aayog
(c) National Development Council
(d) State Development Council
59. Who appoints the vice chairperson of NITI Aayog?
(a) President (b) Vice president
(c) Prime Minister (d) Chief Justice of India

60. Who is the ex-officio chairman of NITI Aayog?

(a) President (b) Vice president
(c) Prime Minister (d) Chief Justice of India



